


I := 1
R := 0
LOOPR: # Zjištění R
  if I > [0] then GOTO ENDR
    if [I] > R then R := [I]
    I := I + 1
    GOTO LOOPR
ENDR:
I := 1
LOOPINIT: # Vynulování pomocného pole
  if I > R then GOTO ENDINIT
    J := I + [0]
    [J] := 0
    I := I + 1
    GOTO LOOPINIT
ENDINIT:
I := 1
LOOPN: # Počítání čísel
  if I > [0] then GOTO ENDN
    J := [0] + [I]
    [J] := [J] + 1
    I := I + 1
    GOTO LOOPN
ENDN:

I := 1
K := 1
LOOPCNT: # procházení pomocného pole
  if I > R then GOTO ENDCNT
    J := I + [0]
    C := [J]
    LOOPINNER: # zapisování prvků do pole
      if C = 0 then GOTO ENDINNER
        [K] := I
        K := K + 1
        C := C - 1
        GOTO LOOPINNER
    ENDINNER:
    I := I + 1
    GOTO LOOPCNT
ENDCNT:


